o =®
) = H ='ﬂ.“ [“3 S El
W

—,321 ] ‘E%{O-I CHA| Sl “OfL|X|” “drz
|

~
(Of0|7} XA OIS 25|= &) IS H7|0fl E5l= FLt.
Are you going to stick it here?
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Hmm. You’re looking to choose which one to stick
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You completed today’s calendar with the magnets you chose.
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Let’s think about it. / Let’s finish it together.
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Hmm. How’s the weather like today? Look out the window. What do you think?
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(Child : “Today, I feel sad because my friend took my toy that I was playing with”)
I see. You must have been really upset. Hearing you say that, I feel upset too.

I wonder why your friend did that.
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(Child : “Morm, it is raining today”)
I know. It’s cloudy and raining outside.
> 007} st LIE S BHEsh= 242 OfoloflA| ARl0] 0t50] 2ots 28 O ET Ola3ith= g YT E
BT L BHEA o= 0[0F7| ot XAl ARM 2e = 17| ThZol| ZE St Efol| #HY off F= 20|
ERHL|CE
© (0f0] : "0} 2= 0|0| 4O[ok 0|0|7} 2= FHol| 4 =CHY=E")
O], It A ALt 2oy, 0jn| S 2lsiM RS #H| 51 Z271
(Child : “Mom. Today’s Mimi’s birthday. Mimi invited me to her birthday party”)
Oh, that’s nice. You look so excited. What should we prepare for her birthday?
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(Child : “Mom. Look at this”)
You want me to know what you do. I think you can do it by yourself.
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(Child : Can you make it?)

Hmm. You want me to do it for you. Let’s just do it together.
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